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Language of learning(fi:&)

A

i % bear fruit 48+ form seeds
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Part of plants can also use roots, stems and leaves to reproduce
2. BEHFT A (f5F) B

Flowering plants use seeds to reproduce.

3. (RH) EFA B gflr 23 kS

Ferns don’t blossom. They use spore to reproduce.
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Be able to use
self-study to 1-1(2 &)
preview the
content of the [Engage %2¢)
class before the
pas ,; 2 2 i
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Y LgfEdds kP i g3 P AR B S PEER
= F
E o . ? ? When plants are short of water, how will plants react, and

what should they do at this time? ?

2.8~ 4 ¢ o FlvRi@ 3 7 9P Where did the water poured

into the soil go?
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Be able to use
technology
media tools to
aid classroom
content.
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Can express
the results of a
group
discussion.
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Can use
answers for
learning
effectiveness.
fofl* w E K
e

(2)7 5 1 #mﬁ\ﬁ\w—g— FlengEd Kk HE S 5
F2X i3 WA ﬂia?] i B2 5 o If the roots of the whole plant are
immersed in colored water, what phenomena might be seen?
(1) The colored water is absorbed by the roots and should enter
the stems and leaves of the plants.

(2) The water transport path in the plant can be judged by the

color seen on the roots, stems, and leaves of the plant.

[ Explore #£ % ] [Explain jZ 2 ]
® jibxEenG R kY - RERFE ZHERES
§s 2
F L e T} Y ek s 0 g ied Tk
WEF|EF T EF € ¥ ¢ - Why do the leaves change
color after plants are soaked in colored water for a period of
time?—Because the roots of plants absorb colored water and
transport the water to the leaves through the stems, the leaves
will change color.

O G EARAEFMWA kgD IR R
L P> T 5 £ IR % o Why is water transported upward
from the roots of plants in plants? —Because of capillary
phenomenon.

& fEtiEienyppd kY - RKERFE o S HAES
G 0T L P fcF B kIS g
d ER-RFEET|ESF > T EF €% o Why do the
leaves change color after plants are soaked in colored water
for a period of time? —Because the roots of plants absorb
colored water and transport the water to the leaves through the

stems, the leaves will change color.
[ Elaboration ## 5% 1 ]
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After the water in the plant is transported from the roots
to the stems and leaves, where does it finally go?
® 2 KAafEpMp AEEBE DT
How does water move in plants?
® 3 jEFHPp RS §RIkEF 5 EFHOE
FEFDZF P AR EHEE T EALER o Answer
The water in the plant body will turn into water vapor,
which is emitted into the air through the leaves of the
plant body. This phenomenon is called
"evapotranspiration".

[ Evaluate :=§ ]
€ Quiztime
fe & ¥ iT% 17T~18~19 F 34k R4 -
Cooperate with the study on pages 17, 18, and 19 to discuss
problems.

1-2~1-3~1-4(3 &)
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Questions EfF#% B :
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The roots of most plants go deep into the soil. What are their
functions?

Experiment

Stk it Tt e B9
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What will happen to plants without the support of stems? Group

@ EE I ES L O BEER KA E? discussion
Why do | have to stagger the leaves of plants to grow?

[Explore 48 %] [Explain 28] 15
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In addition to absorbing water, the roots of plants can absorb
water to help plants grow?
—Water will dissolve many substances, and the roots of
plants will absorb water and minerals dissolved in water.
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What are the functions of plant stems?




(1) Storage stems that can store rich nutrients, such as
potatoes.

(2) The stem itself cannot stand upright, but will climb up
the winding stem, such as maple leaf morning glory.

(3) The stem will travel across the ground and produce
adventitious roots and new shoots at the nodes, such as
strawberry.

(4) The stems of camphor trees are tall and upright.

[Elaboration # 5% i- ]
e hE § vRL g ?

— {8 f~ ?ﬁﬁ’f b s{‘ft‘@lzg%/v\ b B B Ha
(D EF 2k ijdt- LRSS R A 9:% P AL
fL;P-:;: v Bide i A 3
(DEFBHFRL HF ljj'gét B oR P HEA 5 B4 D &
o

»scw]u%’hm 7} -%Z%ff°
(DER =5 w 2w uw ks ek s o bl s
7 e

GE+ _ﬁv,-; 3 <AL TR - SRS € RN N i
¥ o0 e D B HEL o
(O)EFehdd 5 - KW > 7 D RAHTR 0 bl

4ot R HORKT o
(DEFEFGIFF > T UG L blde ! FHRE -
(S)ﬁ;{?gfg\'}\; ’?IZF}‘;:}?‘;..&’M :}?‘igs,\?'.o
What are the functions of plant leaves?
—In addition to evapotranspiration and nutrient production,
plant leaves have other functions:
(1) The shape of the leaves is like needles, which can reduce
water loss. They are called needle-like leaves, such as cacti.
(2) The leaves are densely covered with fluff, which can
increase the buoyancy in the water, for example: Daping.
(3) The plant grows in a dark environment, so the volume of
the leaves is larger, which can increase the area of sunlight
absorption, for example: Auntie taro.
(4) The mesophyll is thick, and the mesophyll can store
water and nutrients, such as aloe.
(5) The leaves are bright in color, like flowers, which can
attract insects to pollinate, such as Christmas red.
(6) There is a layer of wax on the surface of the leaves,
which can reduce water loss, for example: Indian rubber
tree.
(7) The leaves look like cups and can trap insects, such as
pitcher plants.
(8) The leaves look like clips and can trap insects, such as
the Venus flytrap.

[Evaluate =& ]
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[Engage 32 ]
EEESY LTS T
How many parts can the body of a plant be divided
into?

B-R fEfitARLZET?
Think about it, why do plants bloom?

EPRE-B% @+ L507 FAR?
What is the purpose of plants blooming, bearing fruit,
and bearing seeds?

[Explore # %] [Explain %]
FmBR A o BB R R Pk
ER-BIIrEE v ?

Carefully observe the structure of the flower. After the
plant blooms, how does the pollen from the stamens
pass to the pistils?

R KR BB IRIER BRI 0 Aok
BF PR G2

In the case of bees, where can bees transmit pollen?
What is the relationship between flowers and insects?

Bcha (TR A1 & F fofd+ A oot g
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After the work of pollination is completed, which
structures of flowers develop from fruits and seeds?

FIRES A ARARELRET Y o R F i R
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The seeds of many plants are protected in the fruit. The
structure of the fruit changes a lot. What special fruit
have you seen?

[Elaboration ## %% i ]
KRBT R4 &g mBRA L B
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Teachers show real objects or ask students to observe
the photos in the textbook. Do you recognize these
fruits? Have you seen these fruits?
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Discuss in groups to see how the shape and structure of
the fruit help the seeds to spread? How can it help the
reproduction of plants? Many plants will try to spread

Answer

Experiment

Group
discussion




their fruits and seeds. Do you know what methods they
will use?

[Evaluate =% )
fie & % i P, 24~P. 25

~The End™

\

http://student.oneclass.com.tw/



http://student.oneclass.com.tw/

